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Question Number : 1 Question Id : 18152010423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Abelmoschus esculentus belongs to the family
EI2NETLM e} BoL €2 (508 50028 Wothald

Options :
Brassicaceae
EAGER

1. &

Malvaceae
W . =]
5 & P £
Liliaceae
DI DIEWTN)

3. ®

Cucurbitaceae

SMSMEREATS



Question Number : 2 Question Id : 18152010424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Morels and Agaricus have edible fruiting bodies. They belong to their
respective classes

3SR DOTOTED (e JrBD ) SO0 eomrdHERD e ST & (505
535013 § TODND

Options :

Ascomycetes and Basidiomycetes

v aF), DHVER O DDAITFHVER

Basidiomycetes and Ascomycetes
VAT VN DO e8F) NEID

Ascomycetes and Phycomycetes
e&8F), eI SHBAH DEDVEID

Basidiomycetes only
DHVATrVEIN IAresH

Question Number : 3 Question Id : 18152010425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is not true?
& 1808 DTS, 57 OBIO SO

Options :

Exine of pollen grains is made up of sporopollenin
DO KT EDG 275709520 SFITFOAS & D50

Pollen grains of many species cause severe allergies
DN 2 IS JTATEDHED D & DA oN

2. %



Stored pollen in liquid nitrogen can be used in the crop breeding
Programmes

16969 S(523Q) &” Qe TR DT HBEDIHeD 598 1DBdS0 &
3 5 C0003rNOTiDETON

Tapetum helps in the dehiscence of anther

4w GTHO0 @O T HEF D HIETRE DFFaNRA0

Question Number : 4 Question Id : 18152010426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The genetic material in TMV is
TMV 65 23608 ddo

Options :

ssRNA
NEFTIO5Ded RNA

dsRNA
B 205 €5 RNA

ssDNA

3w DEFA0 S DNA

dsDNA
& §8FT5050 €5 DNA

Question Number : 5 Question Id : 18152010427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fluid — Mosaic model was proposed by
JPONE BWeFONT TP (D300

Options :



Schmidt

) 212¢®

1. % 2
Hanstein

5 03 0 ey, QWD

. )
Singer and Nicolson

3 ¢ 0010 HOAI ASOHS
Nageli

Wy OTO

Question Number : 6 Question Id : 18152010428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'_I'he term ‘plasmid’ was coined by
PIE DT DIFTDEIE

Options :

Burill
20D

Lederberg
STe{oNe,

Sir HC Gram
08 D D T

lvanowski
eS0T 202

Question Number : 7 Question Id : 18152010429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The double helix DNA model was proposed based on the X-ray diffractions
studies of

A 5007578 DNA e X- 88 DS 80 @500 D esrd &
13O0, &8 X- 88T DT D @¢IANN0 TN

Options :
Franklin and Wilkins

L P0ES B0 DOST)

Jacob and Monod
2825 DO &

Meischer

Altmann
320

Question Number : 8 Question Id : 18152010430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following enzyme is not involved in Krebs cycle
385 $S00HOS EHTBrHIER) OB

Options :
Aconitase

ALY

Decarboxylase

Ssor)8ySes

Aldolase

3@ e B



Fumarase

4. % 23002

Question Number : 9 Question Id : 18152010431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Male gametophytes of Pinus are
230 S BN HoTBFHD2BB0 D) EETFOSE S0LN0d

Options :

2 celled
Boch dsrered

4 celled

e ererds
2.9

& celled
esh) e

10 celled
DO SeTreres

Question Number : 10 Question Id : 18152010432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following components are absent in the core of bacterial spore
28805 Derod ToleriosS G0tk HIEgreD

Options :

Ribosomes
[STAXNIN WO

l. %



Amino acids
29D 3o

2. ®

tRNA
¢3 &0 I

DNA
A DD o)

4. %

Question Number : 11 Question Id : 18152010433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whisky and Rum are produced from the molasses of the family members of
D B B &2 180 Hoen02TAE TOHW I JVEFIR oS
&¢5783 TOHaAHTTON

Options :
Orchidaceae
ZToRTET

1. % =
Poaceae
= L

- DD

Solanaceae
SFOID R

3. %

Fabaceae
POAALS
4. %

Question Number : 12 Question Id : 18152010434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



ssDNA is the genome in
&2 1800 ) B8V S AEFIANES G DS &) BNLNTYOIT B0EN0D

Options :

TMV
l. %

SARS virus
2. %

HIV
3. %

. v @x174

Question Number : 13 Question Id : 18152010435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chemiosmosis theory was proposed by?
SolE&ar o D 0T |0e8arO008
Options :
Krebs
AN

l. %

Mitchell

VIR RT)
2.

Calvin

3050

Paranas

PN AT



Question Number : 14 Question Id : 18152010436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Double fertilization Jnvnlyes
&2 HObESe & 267 (HEAD

Options :

Fertilization of the egg by two male gametes
1RD23 £09068 BOH HNDe3seTe HOTITHO

Fertilization of two eggs in the same embryo sac by two male gametes
brought by one pollen tube

2,3 | D238H0 S &5 B VD o 2,8 HT S0 o sor TOD
B0 HHndassere Hodrto

Fertilization of the egg and the central cell by two male gametes brought by
different pollen tubes

1R D30 ' (VD3 K690 HO0KM TS Ee90 BOL ST 2

DT HTET e ° 500 DO B0 HBADsEeTe) Hod3rio

Fertilization of the egg and the central cell by two male gametes brought by
the same pollen tube
1R DessH0 ' (023 €0 HOO TosE €800 2.8 Do o o

v B0 Bo® HADsEEFe HoTIrio

Question Number : 15 Question Id : 18152010437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which enzyme complex is responsible for the reduction of molecular
nitrogen to the level of NH3 in root nodule of legume?

B F0EEe T 20O EDN(HRA) Q) ORTIOT
5 0DES0 TOOOBERE 528255 30 DOB a0 D080

Options :



Aminase
VN

Nitrogenase

BTETETS
2.

Nitrate reductase
SBoeS 0csses

Nitrite reductase
S 6¢sTS

4. %

Question Number : 16 Question Id : 18152010438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Quantasomes are found in
S e S0 QO ED DTN

Options :

Mitochondria
oGO

Mucleus
VRO WS

Lysosomes
SFES0en

Chloroplast

STOSTED I en
4.



Question Number : 17 Question Id : 18152010439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Angular leaf spot of cotton is caused by

Hed ¢S FFaD esBohtd) Bihen &: 2o TS HoEDNOS

Options :
Pseudcrmonas
AT TR
1. %
Xanthomonas
200 AT
2. =
Colletotrichum
; §°ce5] 2o
Pyricularia
dsvrerdaur
4. %

Question Number : 18 Question Id : 18152010440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Conidiophore is 2-4 septate in

2-4 Deraseen (e FAGTTES en SIS FIdIaw
Options :

Spaceforheca
AP )VE Yald

Fusarium
HEEA0D
2. ®



Colletotrichum

555 Brso
3. %
Pyricularia
DL sTBa
4.

Question Number : 19 Question Id : 18152010441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In angiosperms, tunica corpus organization is seen in
835965 Daredey, LTS G0 AT°280 & 1806 57¢36T QN0

Options :

Shoot apex
| ¢ SomEio

Root apex
cdPe | (O
2. %
Lateral meristem
s . o0 fad) 2T 58920

Axillary bud
1Ne3ey §°G%0

Question Number : 20 Question Id : 18152010442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Beadle and Tatum identified specific mutations in
DAES HOA X0 (DB:E 65 10555en QoS HBoT S

Options :



Drophila
(PO

Yeast
&

E. coli
=z §€)

Neurospora
e 8o

Question Number : 21 Question Id : 18152010443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sargassum reproduces vegetatively by
JTH0 S FTHOD (De0£e5 18 (80O HOE 3@ sT° BEHAOE

Options :

Propogules
D)

Fragmentation

P 50 e86)) a8 aI0
2./

Akinetes

e98QEW
3. %



All of the options

29 Clor

Question Number : 22 Question Id : 18152010444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Apomixis is
9808 )0 e

Options :

Formatiogu of seeds by fusion of male and female gametes
HEA, |V D8 HOTBIHO IO DSaren SIS0

1. %
Formation of seeds with syngamy but no meiosis
DT DT IENES” DBEEF O HOTFHO B0EN0A 5% §0HESH
00232300 23300
2. %
Formation of seed without syngamy and meiosis
Desere HOBTHO OGN §oHESE DS Do Do
G880
3. ¢
MNone of the options
Do) 555
4. %

Question Number : 23 Question Id : 18152010445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The reaction centre in PS [l has an absorption maxima at
SSB185655 635090 11 B 52063 55590 11 €5 0T o300

Options :



780 nm

T80 VN PAVMOV
LW

680 nm
680 TS s

700 nm
700 5SS a0 e

3. %

660 nm
660 7S a0 D

4. %

Question Number : 24 Question Id : 18152010446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fungus known by the name of ‘Bread mould’ is
B& areren e@d & IOTVE W

Options :
Mucor
2555
1. %
Albugo
ese)fi’
2. %
Puccinia
58)Dale
3. %
Rhizopus
TEDD

4.



Question Number : 25 Question Id : 18152010447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of base pairs present in DNA wrapped around a core of histone
Proteins

§°5 TS (5PE3D 08 &) DNA 7SS S08 165230 ST 23650
QO E
Options :

L 146

154
2. %

200
3. %

54

Question Number : 26 Question Id : 18152010448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If red flowered plants (RR) of Antirrhinum species are crossed with white
flowered plants (rr) then expected F1 progeny in incomplete dominance is

D0 SO (RR) B0 SBeny S0 (ir) SJeen o> es0e3BS0 aredeS
HDOEBEI0 BN 0D 3o Geses 10 Sesed (F1) ssS0eS &2 1808
D520, 500 e HarIEN G IEDTON

Options :

All with red flowers
Q) Y 380 HOHd

all white flowers
20 BENY) SF0 (e

2. %



All pink flowers
s v @) Herd) SGO o

all blue flowers
) VO SGo Hed

4. %

Question Number : 27 Question Id : 18152010449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A typical prokaryotic cell is found in
& 1808 A 30|58 JeG 58t ¥OA GoBH

Options :

Nostoc

v
1. ¥

Ulothrix
aweseds)

Aspergillus
&) GO0

Vaucheria
T8RP

Question Number : 28 Question Id : 18152010450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A gene showing codominance has
QDeT-2307Gebhed t0 9 236056 1800 DGO G0ENOR

Options :



Alleles that are recessive to each other

. oS NEer e 2,508 EES evoesderen

Both the alleles are independently expressed in the heterozygote
Deredad HoonED2:0 ¢ Botk ASMDEET Ie & LHOSOTT

- AT T I IN T oW

One allele dominant over the other

2.8 AS0DED 0 HTE TV 267 ed 5] (236500005
3. %

Alleles tightly linked on the same chromosome

2,3 183075 50 3 A fadEer yen DT e0DN05TSEan
4. %

Question Number : 29 Question Id : 18152010451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Stipe, hold fast and frond are the terms associated with
DD, THT0H Eea0, |rochen & (§od TS EDDAT 0N

Options :

Gracillaria
(FoSBaD

1. %

Polysiphonia

)y TORTVA

Laminaria

DDA
3. ¢

Chara
g



Question Number : 30 Question Id : 18152010452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Gametophyte of Bryophyte is
RIBFE HOTBrHDB30 R

Options :

Green and vascular
ISV TRV IR o Ton WL s ToFrTo W

1. %
Independent, multicellular
v 0 £e50|ed, a0 EE0ined
Dependent on sporophyte
: HOTIFHD B0 D STEIBO
LR
Dependent, unicellular
S EB0(5E5T 68, DEEO
4. %

Question Number : 31 Question Id : 18152010453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Reticulate chloroplast found in
2POTE TBBBeNSeD 20N Soeraw

Options :

Ulothrix
A e |aE)

1. %

Oedogonium
&BHDavo

o i



Spirogyra

D)6Zo"

3. %
Vaucheria
THEalr

4. %

Question Number : 32 Question Id : 18152010454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If one strand of DNA has the nitrogenous base sequence as ATCTG, what
would be the complementary RNA strand sequence?

DNA &°Q 2,8 8565 S92 S0P (£:0e30 ATCTG 98, T°Q DO 8E
RNA & &: (806 S0 T EDdn G0enod

Options :
UAGAC

) % AACTG

ATCUG

TTAGU
4. %

Question Number : 33 Question Id : 18152010455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is known as Sac-fungi?
& 1808 S aF8 HOBE 2

Options :
Phycomycetes
D3R

1. %



Ascomycetes

L v &3, HREID
Basidiomycetes
SINATBEVER
3. %
Deuteromycetes
P38 03D
4. %

Question Number : 34 Question Id : 18152010456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ATP energy is produced in the following cell organelles
&: 1806 Ssrorre)eS’ ATP 48 5706 ¢85 383 e0s)e50H

Options :

Only chloroplast
SR S5

1. %

Only mitochondria
S TOIR O 5B

2. %

Chloroplast and Mitochondria

THrR SO0 S’ 5o BOST
3. ¢

Nucleus
EVWETO WIS

4. %

Question Number : 35 Question Id : 18152010457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



An artificial group within fungi is
ROIT O (8.5 DT T 2FD0NDTIY)

Options :

Ascomycetes
e REID

Deuteromycetes
5 2838 3R

Basidiomycetes
DDABrape3D

Phycomycetes
VD

Question Number : 36 Question Id : 18152010458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The correct statement for Spyrogyra is that
TEO° B HoVOHOD DB oS
Options :

Filaments having scalariform conjugation are always homothallic
DEETS S05590 0 DFEBEFD DOV M50

1. %
Filaments showing lateral conjugation are always homothallic
. DESETD 50e800Y0 oNEHE TG SETD O30
2.

Filaments showing lateral conjugation are always heterothallic
800 B0 50650090 NG PG 5ETD A0SV



A sexual reproduction is brought about by zoospores
257aF 8 @ o 500 BohE |Hehozes )ed
4. %

Question Number : 37 Question Id : 18152010459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rate of decomposition is faster in the ecosystem due to the following
factors except

&2 18065 08)8) 85T 2,563 harr) DHTED €355 o3gadeS”
B0REF5¢50 BEND AN oW, @8 o) S*GE0?

Options :

Detritus rich in sugars
3588 DTG0 (TSB) & 9818 T0W DB

l. %

3A DO B TEFSGEI0

Warm and moist environment
2. %

Presence of aerobic soil microbes

STPOIV T ES 209 e8T° (AT 22809 23565
3. %

Deftritus richer in lignin and chitin

v 558 HG0o S ORYS DO Se3S DBV ST &S00

Question Number : 38 Question Id : 18152010460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



. Match List | with List lI

List | List Il
a) Oxidative decarboxylation i) Citrate synthase
b) Glycolysis ii) Pyruvate dehydrogenase
c) Oxidative phosphorylation iii) Electron transport system
d) Tricarboxylic acid cycle iv) EMP pathway

Choose the correct answer from the options given below:

HEIE 1 ) 763 HEIE 1l 53 23805505

HEIK | HEIE I
a) 38585 Hseor 83055 i) DBE DoTS
b) OsOHD i) DHSE For BFeTS
c) esSyE&en e s8dea i) O TS SoTET 09855
d) 12570738108 esddeaho iv) EMP O30

Bod DS DTS BT 2ot od
Options :

a-ii, b-iv, c-iii, d-i
1. ¢

a-iii, b-iv, c-ii, d-i
2.8

a-ii, b-iv, c-i, d-iii
3. %

a-iii, b-i, c-ii, d-iv
#

Question Number : 39 Question Id : 18152010461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



All given statements stand true with respect to Lichens, except
&1 18005 L) areses e BES OB 030030

Options :

These are indicators of SOZ2 pollution, as shown by their abundance in
these areas

5% BIT © OB sedcd 283 $)8 BaAsr8)& srenar:) HO0wIS80)
1. ¢

Breathing pores help in gas exchange, these are found on the lower surface
of the thallus

SIS © T5F DO 00 &) FTLOS0IPeD OO S0 )B &

SO WES T MY
2. %
This association is also termed as helotism
DeE3 roliess0 arSe3230
3. %
Crustose lichens are pioneers of rock succession
0°e @DED0S 1587 BIS e (DTERE
4. %

Question Number : 40 Question Id : 18152010462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Bryophytes and Pteridophytes, transport of male gametes requires
TG, BOEDE o HH D2 §ee) OTRE 527 )
Options :

Insects
deysren)

Birds
2 8oen



Water

DD
3.

Wind

mé)
4. %

Question Number : 41 Question Id : 18152010463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Movement and accumulation of ions across a membrane against their
concentration gradient can be explained by

TPCaEH (23096 B0 053D EOTT 2% 0°; €85130 (HOTE® @0iFPae) L0
DB HOOHS0 20AB e@d

Options :

Active transport
Q8aH Gerer

1. ¢
Osmosis
1) G0
2. %
Facilitated diffusion
NS TR0
3. %
Passive transport
2100 Gare
4. %

Question Number : 42 Question Id : 18152010464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In Gymnosperms, the ovule is naked because
D59eberereT @080 SO GoGERE S50

Options :

Ovary wall is absent

o 040D fommien BEIEIC0

Integuments are absent
08N Tren BESFIE0

Ferianth is absent
DOJ(TPeN BEIC0

Mucellus is absent
DOTI0 BEFSC0

Question Number : 43 Question Id : 18152010465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In protein synthesis, the initiation codon is
13 Do & G0 £ES

Options :

UGG
l. %

CuG

AUG

Question Number : 44 Question Id : 18152010466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following genus is associated with coralloid roots?
&2 1806 (DY FEerand S EJTTow

Options :

Taxus

érsHm
1. %

Cycas

- NS

Pinus
DSD

Sequoia
s ralr

4. %

Question Number : 45 Question Id : 18152010467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The principles of Numerical taxonomy were developed by
H0grs 5086 T N0 Jrred APEPe @02)85)0 TRIO

Options :

Bentham & Hooker
20T & 8D

Engler & Prantl
ol B & [aroe3d



Takhtajan & Cronquist

38233 & 1570850
3. % '

Sneath & Soakal
)& & FED

Question Number : 46 Question Id : 18152010468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following features would distinguish a monocot from a dicot
Plant

&2 800 SIS ©F 0 ALY Das INELODN0E DEGY Des InEpo
5 35HHD0O

Options :
Aestivation
oJ)od JBTI
1. %
Venation
£ L0
2.
VVernation
S0
3. %
Phyllotaxy
D|EPe) 90808
4. %

Question Number : 47 Question Id : 18152010469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The expanded form of ELISA is
ELISA DX ped DO



Options :

Enzyme-linked immunosensitive assay

DOBD 05 @75 Y3 )
1. %

Enzyme-linked immunosorbent assay

. OB O0F @NT5S WD I0E e
2.

Enzyme-linked immunostate assessement
Q0B O05 20755 VE esnIR0E

3. %

Enzyme-led immunosensitive assay

DOBD BB VTS RS 9
4. %

Question Number : 48 Question Id : 18152010470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

About 15-20 vascular bundles are found in the outer rings of anomalous

secondary growth of

& 308 9005 530D 9B €5 05D 15-20 DT $HOTPEN 2%

S5O0H0E EDTOW

Options :

Boerhavia

S ToPDO”
1. ¢

Achyranthes

@D T
2. %

Bignonia
DFH dalr

3. &%



Dracaena

(B3O
4. %

Question Number : 49 Question Id : 18152010471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Elayachi, haldi, Hedychium belong to the family
ArO e, D), GO0 & 308 50t02rd8 TodHN JwEew

Options :

Poaceae
S

Orchidaceae

esOITBR
2. %
Zingiberaceae
2202220080
3. ¢
Amaranthaceae
90T O &
4. %

Question Number : 50 Question Id : 18152010472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The plants growing on saline soils are called as

03369 Nares FoeeS DOT gy e &2 (800 DO Deardd

Options :

Xerophytes

28 e
1. %



Halophytes

- 5565 E0nen
Mesophytes
E DEY

3. %
Hydrophytes
& DEDED

4. %

Question Number : 51 Question Id : 18152010473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following activities prevent aforestation in deserts
DTS 9838 590 AT |IHTS 850

Options :

Goat and grazing animals
208 OO Fed o 23068 eW

1. %

Local residents

"8 QAP0 en
2. %

Low rain fall

©@e)) 9550
3. ¢

Unfertility of soil
) 0BT D Y6

R

Question Number : 52 Question Id : 18152010474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is not true for Rhodophyceae?
Rhodophyceae § 0200500 Q230 PO

Options :

Absence of centriole and flagella
0E3TFD SHOA §Fer Gared0

Accessory pigments include phycocyanin, phycoerythrin and
allophycocyanin
DEITDS, DEVOBS, @S DETOTFAS SG(STLeN GOLFOD

They reproduce using alternation of generation
D505 EDSTIE0 EFH0ES (Hehrges e

3. %
The stored food is floridean starch very similar to cellulose
2000£63°25 SPEO 0T FFBAOTS DOBNTE0 A5 HTESo
4 0000

Question Number : 53 Question Id : 18152010475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Male and female gametophytes are independent and free-living in

&2 1B06 o365 & 55050 20T HHDA, (D HodBridacren erdd

Options :
Mustard
oo™

1. %
Castor
€3000050



Pinus
DS
3. %

Sphagnum

4 v VD0

Question Number : 54 Question Id : 18152010476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following ecological pyramids is generally inverted?
&2 1808 o735 $B0NENTT SOT 35358 DBEME EQDVOE

Options :

Pyramid of biomass in a sea
D006 285516935072 DB

1. ¢

Pyramid of numbers in grassland

MO Do Hogrs DENE
2. %

Pyramid of energy

8 DEE
3. %

Pyramid of biomass in a forest

) e355806 2855(¢5:550°F NBME
4. %

Question Number : 55 Question Id : 18152010477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is the correct order of classification?
&2 1806 a3¢3S° HOTD 508G (Kadasw



Options :

Kingdom, Phylum, Genus, Division, Order, Class, Species, Family

1 T°2350, G0, D273, D20, (EoDdn, ed¢ied, 237es, Huen0D0
. ®

Phylum, Division, Class, Order, Species, Family, Kingdom

, G0, Do, e8Giies, (5000, 237es, SO0, TS50
. ®

Kingdom, Division, Class, Order, Family, Genus, Species
T°2350, 202700, e88iies, 52050, 0020, (sd237es, 277ed

3.¢
Division, Genus, Family, Species, Class, Order, Kingdom, Phylum
220, |D23ed, SueN0D0, 23es, 33ifes, (S0, TPe30, G0
4. %

Question Number : 56 Question Id : 18152010478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is known as fossil bryophyte?
&2 1808 ¢3¢ Feres (TTFRE OO ?

Options :

Marchantia palmata
PO DA T

l. %

Riccia fluitans
85)alr e

2. %

Naiadita lanceolata

SATPSE &) E)
3.9



Marchantia polymorpha
P02 DA Do)

4. %

Question Number : 57 Question Id : 18152010479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a DNA molecule
DNA e0£ sy’

Options :

There are two strands which run antiparallel one in 5" to 3" direction and
other in 3" to 3" direction

2,5 DNA e9£2009 65’ B0 83D 65538 IS eodTr 2.8 8F) 5 8
0B 3§ OFS’, BOS S 3§ 0B 5§ OFS” EAD00H
1. ¢

The total amount of purine nucleotides and pyrimidine nucleotides is not
always equal

IO S EOS © HoWEEY NDODAER HOWE NSTIOMT &0
2. %

There are two strands which run parallel in the 5’ to 3" direction
DNA e9e63°Q Boch sFien 2,8 OFS el 5’ §& 0od 3' §
&3S Boeraw

The proportion of adenine in relation to thymine varies with the organism
2203000 283 @@AD SHBOIN HASTN® € A JEOTT GO0

4. %

Question Number : 58 Question Id : 18152010480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Sachs recognised three types of tissue systems in the year
6 @F FOTSH 2 N0S5535065° Eeazrred 55850 e SseenT®
GO0 BEOTCD

Options :
1972

1927

3 1873

1968

Question Number : 59 Question Id : 18152010481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following ratio is generally constant for a given species
2.8 238 HoDOoHOD & 1808 DI Vad ) o VSO
(=TelANTOTA

Options :

A+G [/ C+T
l. %

T+C / G+A
2. %

A+T / G+C
3.¢

A+C I T+G
4. %

Question Number : 60 Question Id : 18152010482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Korper-Kappe theory was proposed in 1917 by
5¢515-570) D050 1 S’ DB OO0

Options :

Schuepp
L ’é){ji}o.}

Schmidt

212
2. %

Hofmeister
DoV

Pl =

Question Number : 61 Question Id : 18152010483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Kranz anatomy was firstly observed in 1914 by
1914 €5 305¢3 PO (52025 @088 TR D000

Options :

Hofmeister
AP o] e)

1. %

Hanstein
03560 e, QDD

2. %

Haberlandt

BT 08
3. ¢



Huxley
58

Question Number : 62 Question Id : 18152010484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following plants, strobili are not formed
&2 18008 DTS 08 1O DB

Options :
Equisetum
845 (2260
1. %
Cycas
DES
2. %
Dryopteris
(BT DED
\'.5""
Pinu
DD
4. %

Question Number : 63 Question Id : 18152010485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The anther wall layer which is usually polyploidy and has dense cytoplasm as
well as high DNA content is

JTHES DB80 65 &2 180H 2PN0 SO 2sTVVEE0, 9O
28331690320 SDOAD DBV S FrercNS’ DNA & 4O &0008

Options :



Endothelium

NOEHOOHD
1. %
Tapetum
5 e 0
Epidermis
2% 820
3. % i
Middle layer
DEEQBO
4. %

Question Number : 64 Question Id : 18152010486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Heterochromatin word was introduced by
23T 83 D)) (D5FDEID

Options :
Korenberg
§05)0

1. %

Heitz
res

2.9
Solenberg
FBH)Q

3. %

Khorana

gS° oo
4. %



Question Number : 65 Question Id : 18152010487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a stamen, proximal end of filament is attached to
308 00 T 1Bod o HAE 9T S0tnod

Options :
Anther
HOHEHO
1. %
Gynoecium
0S40
2. %
Sepals
G5 8 dEren
3. %
Thalamus or Petals
. BHerHD B es8dE diEEen
4. &

Question Number : 66 Question Id : 18152010488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

4-nucleate monosporic type of embryo sac was first discovered in
LISATNLOIOTOS ErG IrSF 105 DOE o IO 2oth eSS
o) &

Options :

Polygonum
A0



Oenothera

=R Y lek
2. ¢
Plumbago
D02rf°
3% 7
Allium
ecdavo
4. %

Question Number : 67 Question Id : 18152010489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Large, empty colourless cells present on the adaxial epidermis along the
veins of grass leaves are

HE & HEre &l arsr ;38 &R Wrosre & (o DE, e
S0B PGared Searen

Options :

Lenticels
Soe3O)

Bundle sheath cells
@058 M Seren

2. %
Bulliform cells
20OrS eren
3. ¢
Guard cells
B8 8 Segren
4. %

Question Number : 68 Question Id : 18152010490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In plant tissue culture studies, polyethylene glycol (PEG) is used to induce
300 eered 30506 FOBOS s & (200 D
00008 3Rt

Options :

Somaclonal variations
FIrERO AT EED

1. %
Mutations
gseb 1050 en
2. %
Protoplast fusion
B R elowwile
3. ¢
Embryogenesis
DO e
4. %

Question Number : 69 Question Id : 18152010491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In higher plants, the chloroplasts are
59 1363 D80S TOSTEWIHO e38ye

Options :

Discoidal

WIB2r5O0
1. ¢

Star shaped
NEEEe]le]



Cup shaped

; AR es580
Reticulate
2e P50

4. %

Question Number : 70 Question Id : 18152010492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Linker DNA binds
D05 DNA D3 00855 2208580 &0E006

Options :

H2A and H2A proteins
H2A 0G50 H2A (87630

1. %
Nucleosome and H1 protein
SrEarEarSe SHOa H 19Fe3eD
2. %
H1 proteins and H1 proteins
H1 85¢360 200050 H1 (8Fe3eD
3. %
Two successive nucleosomes
y BOD HEY DELAD &) SrETTE 50 E:
4. ¢

Question Number : 71 Question Id : 18152010493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one is wrongly matched?
&1 1800 73S )T 2365 HBIDB0E

Options :



Uniflagellate gametes - Polysiphonia
D EF°25050 68 HOTITHDBO - SO RIFAOF
1.v

Biflagellate zoospores — Brown algae
& 5 EF50sned O 23880 - e 98 Beren

2. %
Gemma cups - Marchantia
33073 £ e - ST OCS”
3. %
Unicellular organism — Chlorella
, DEEeacined 2 - Soer
LR

Question Number : 72 Question Id : 18152010494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a cell, t--RNA constitutes about
5206 +-RNA @065 0SB0 S0EN06

Options :

70-80% of the total RNA

1 S0e50 RNA &° 70-80%
LW

15% of the total RNA

Swedo RNA & 15%
2. ¢

5% of the total RNA
3050 RNA &5 5%

1-3% of the total RNA

Sweso RNA & 1-3%
4. %



Question Number : 73 Question Id : 18152010495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cell plate which appears during cytokinesis, ultimately transforms into
EEa|9635 DB BIS” EIN0T EadeOE, edbTr ses 535" &2 (8od Do
NV VRTRTeIAVEVela

Options :
Middle lamella
0G0
1. ¢
Primary wall
(EPENE 85T90
2. %
Secondary wall
& L 4
& £e30% S350
3. %
Plasma membrane
oPer B0
4. %

Question Number : 74 Question Id : 18152010496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Barochory is a phenomenon of
2OEO R 0N ST

Options :
Seed dispersal by mechanical explosion

Dedaren 0508 HOBS TG0
1 %



Seed dispersal by gravity
Deédrren Hher sEGeach 3 TS0

2. ¢

Seed dispersal by wind

DSren ) TP 50° L0
3. %

Seed dispersal by animals

DATren B0AY S T°I0° ST ENTOLI0
4. %

Question Number : 75 Question Id : 18152010497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In plants, leaf fall is due to the production of
S0, @50 Tren 18D | 0N0TE

Options :

Abscisic acid

e92) DT €305
1. ¢

Indole 3-butyric acid

Q20ES 3-27°5¢305 e300
2. %

Gibberellic acid
22203068 a0

3. &%

Zeatin
OV AT

4. %

Question Number : 76 Question Id : 18152010498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Crown gall disease is caused by

8SS e (oehen) s O @07 HOEMNOO

Options :
Agrobacterium
el FEr86a00

1. ¢
Nitrobacter

D5 erss

2. %

Rhizopus
BED

3. &%

Pseudomonas
S IR
4. %

Question Number : 77 Question Id : 18152010499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a dihybrid cross between yellow, round seeds and green, wrinkled seeds
the phenotypic ratio in F2 generation would be

HO DN, HOLEA DSSmren HOAL HE esBDLI), SNBeD DAD
Dedaren o) DTS JNEL 0§ A 505G TOV F2 S80S
BT B9 DAS:

Options :
12111
1. %
1:1
2. %
1:2:1:2:4:1:271:2



9:3:3:1
4. &

Question Number : 78 Question Id : 18152010500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The cells associated with xylem and phloem at the end of veins are
modified into

JEPe) &30 DI T2H6Y HOC FAE marered O &) F)
earen 82 (508 Q0T Erar0ed B0 TWoHEow

Options :

ldioblasts
RAOITeTPED

1. %

Transfer cells
187 )0 Beared

2.

Sclereids

2 68)
3. %

Histogens
L, TEEQ

Question Number : 79 Question Id : 18152010501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Duplicate of Holotg()pe is known as
S B & 58O &rd0
Options :

Syntype
WOV



Paratype

b 5 OB

Lectotype
SEHD

3. %

Isotype
DR

Question Number : 80 Question Id : 18152010502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mannitol is the reserved food material in
SrAEFS Ve DTG0 T EOAG0T 3500

Options :

Chara
S A

Porphyra
Evilollek

Gracillaria
(TPeEal

Question Number : 81 Question Id : 18152010503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Diacytic type of stomata are found in the members of
305 ¢35 G578 TOHN JGoTreD &2 180 Hoen02r08 ToH
SnE) o EDDAron

Options :
Malvaceae
Sre 50

1. %

Caryophyllaceae

SOBFD O
5 J
Brassicaceae
FAAERS
3. %
Rubiaceae
OV AlOMTN
4. %

Question Number : 82 Question Id : 18152010504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following organs penetrates into integumentary tissues and
absorbs the food material

D00 TBWE) ©0BEITOS E T T IFR) 0N €833 DT D
30D 2rifo

Options :

Antipodals
DTS Segren

1. %

Egg apparatus
90800580



Haustoria

3 S VEelevyi
Synergids
oTEETr e

4. %

Question Number : 83 Question Id : 18152010505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mitochondrial matrix possesses
0BT S8 S 1 GoEron

Options :

Enzymes of Krebs Cycle

(385 SOOIPRE SITrHITE OBV
1L

Enzymes of Glycolysis
I15°0ONR 0BdneW

-

Enzymes of Calvin cycle
36 :S SOATFIE SC8I1T DOTI0EW

Enzyme of nitrogen fixation

A2 M) OO OB e
4. %

Question Number : 84 Question Id : 18152010506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sickle cell anaemia is due to
28S DS BESrdes 9T

Options :



Chromosomal aberration
B rEH0eeS HdSG Ve

1. %

Chromosomal abnormality

rrdn 1§ S3rS nen
2. %

Point mutation

20D 5650507 en
3.9

Frame shift mutation

(D0 ae) €565 0507 e
4. %

Question Number : 85 Question Id : 18152010507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Synandrous condition of stamen is commonly found in which of the
following families?

S0 HocinE BTN & (B0d Hoen02) JELOS EQN0A?

Options :

Rosaceae

SFALN)

l. %

Malvaceae

S S 5
2. %

Apiaceae
DO

3. &%

Cucurbitaceae

Lo DTV



Question Number : 86 Question Id : 18152010508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BElast disease of rice can be effectively controlled by
5663 eofl BHen &) AR T 5T De0TS0S0T AFBOTIHTIAD

Options :

Solar treatment
&Ferd D8

l. %

Hot water treatment

33 D3 wEes)

2. %

Seed treatment with mercuric fungicides

- D30 2D AT T sTE DBS HO

Killing the vectors

, %50 QOPION
. ®

Question Number : 87 Question Id : 18152010509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a test cross, the following plants are produced
DO H0EGEI0 EADOT s en

Options :

All will exhibit dominant phenotype
@) RBE e 23V 5 s8I 1G0T oW

l. %

Dominant and recessive phenotypes 50% each

2353 Ged DO e90edPed (594 sETareD 50% & SS0LEFOoN
2.



All will exhibit recessive phenotype
29 JwEien eoedded By idrara) (0 aron

3. &%

Dominant phenotype will be 75%
2ared 9B ETH0 B0Eren 75% )8 1CHTON

Question Number : 88 Question Id : 18152010510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The development of embryo sac in Polygonum divaricatum was described in
1879 by

TR0 Fa858aD & 1879 €5 DOES €98)35908 DB
Options :

Hofmeister
o 2005

Hanstein
¥ =3
mjsgjr:}&_rﬂ

Strasburger
i hlele)
3. ¢

W.A. Jenson
W.A. B0

Question Number : 89 Question Id : 18152010511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Formation of Acetyl Co. A is occurs in
DTO §. QOB ' WERE DGO

Options :



Matrix
S

Oxysomes
38 325506

Cytoplasm
§ea|Cadf0

Perimitochondrial space

y DO OB OSF e90STFO
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Question Number : 90 Question Id : 18152010512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Phloem in gymnosperms lacks
D3Yeh ared sFNE E237006S" & JTreOseD G0

Options :

Both sieve tubes and companion cells

v TOR) TN O dFEeFen

Albuminous cells and sieve cells
L3N IR EETPeN NN e EeTren

2. %
Sieve tubes only
. TPOR) D ST(H D
LR
Companion cells only
4y OSTEEPED S

Question Number : 91 Question Id : 18152010513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The statement 'Omnis cellula e cellula’ was given by
Q07ehS SeTre) @ASGS B ST ON0G DG BTN @) BOVID

Options :

Nageli
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Purkinje
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Sachs
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Question Number : 92 Question Id : 18152010514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DNA forms RNA by the process of
A5 0B &8 S 2 DS ICE

Options :

Translation
i“—_':}rmﬁffj O

Transcription

@ﬁﬁ@%})rﬁ@
2.9



Transamination

CAI ATV TS
3. %
Transformation
, EPR YR
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Question Number : 93 Question Id : 18152010515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Genera Plantarum was written by
BRE T0erdo DoV
Options :

Bentham & Hooker
23080 & a3 0°80

1. ¢
Engler & Prantl
DN B & (2r0e3S
2. %

Takhtajan & Cronquist
55230 & (5P08 5

Sneath & Soakal

B & FED
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Question Number : 94 Question Id : 18152010516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Soft, delicate and low lignin content is found in the cell walls of
&3 18005 T30) o 08 TEe EdE55065 o09tNR ™,
0B DO B50)05 IrErcnS” O @ S0V

Options :



Agave sisalina

€970 DATES
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Tillandsia
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2. %
Musa textilis
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3. %
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Question Number : 95 Question Id : 18152010517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A colour blind man marries the daughter of a colour-blind person. Then in
their progeny
38 e00856h 20 €505) BN, 053G @050 &) 0958 B8 o
DT0 TRHO0D), 08 EOT DoTTN0 QT GOBTETRE 55750
005

Options :

None of their daughters are colour blind
08 HT) e3¢NDeD 5G 08365 0 (D I0TIED

1. %

All the sons are colour blind

B8 T oD Ve 0 3G 0T (60T
2. %

All the daughters are colour blind
08 HT) es¢h DEED 0B 3¢ e0dErid] (DGO IRTS

3. %



Half of their sons are colour blind
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Question Number : 96 Question Id : 18152010518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Gourd family is known as
™0 B0éno0 eodmr

Options :

Cucurbitaceae

SMSMORTATN)
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Apiaceae
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2. %
Euphorbiaceae
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3. % N
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Question Number : 97 Question Id : 18152010519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of nigtrogen bases in a single strand of B-DNA with 100 turns is
SO %en K> B-DNA $%0 DEF & &2 1808 dowseS &|ev23d SToren
=0T A O]

Options :

500



1000

2.9

250
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2000
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Question Number : 98 Question Id : 18152010520 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This group stands as a connecting link between the Gymnosperms and
Angiosperms
D3 BDTOEY, €3:3)BL)2POE 20638 WY OO

Options :
Coniferales
00D
1. &
Gnetales
DO
2.9
Ginkgoales
20D
3. ®
Cycadales
E}S{‘é@?&
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Question Number : 99 Question Id : 18152010521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Leghaemoglobin is produced in response to
AAE 1IDBHI0S T B ar STHES 5658 330D A0

Options :
Respiration

F° 5o 8%

1. %

Photosynthesis
8823008 003 (B8O

2. %
Fatty acid synthesis
ares esadrey HoZNED
3. %
N2 fixation
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Question Number : 100 Question Id : 18152010522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Asymmetric karyotype is found in
NN SPOTBrBD 18060 TS 0eN0d

Options :
Ginkgo
o o

L& 23010
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Cycas
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